EARAROBREBRT —5 XN—ZXBISH—F

2024548278 () 10ES1H

/R YA

18O SR EFRFEE

‘(fﬁ} W ‘I%EH?’JF&] | & 15000 =

[AE=%] 17 :8,000,000  ~ 237&:3,200,000 .~ 375:2,000,000H  437%:1,200,000H 53 :800,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< =) s 4 | AEAT 1:55.3 2-2-2-2 |37.1| 92.5 | 1 490 | HAKERR (%)
1188|172V #57.0 =) (+4) BlRAR YLD
RiRSAYF B:ZREVYFAET« /=Y ITr—1L
= o [z}, : -7-3- BE—% (FR)
N PP 5 % 1(.35/54.)4 7-7-3-3 |37.1]91.6 | 3 (4_820) éﬁiﬁ%
RiXT T4 B:Fv—LETFv— [Filsssie]
4 4 | KETBH 1:55.4 5-5-4-4 |36.9| 91.7 | 2 516 | REENT GER)
3 6| FLFaA [B] S50 F9%) -4) STEAK_NTA VTR W)
R:N—EVIv— B:E17—TL—LA HBEIT7—L
S F—F 4 4 | PR 1:55.4 1-1-1-1 [37.3] 90.9 | 8 462 | BERFEL ()
4|5|5|®@1YF—Ev b %57.0 %) ) | B LRIF 5T RR
R:ZwF—0Orv bk B:ARST7A RE #B
» J\PRBSR : -5-6- BREE EH)
51111/ @72/T90U— [B] 5 ') Fhis 1.(535).9 5-5-6-6 | 37.1| 87.0 | 5 (&_3?2) %%m?
RNV -l B:BYYI4 )T HRAH T4
S g D GRE : -3-4- HEER (/)
6 4| ®@URYTUR [B] 44 S 1(.15/62.)0 3-3-4-4 |37.5| 85.4 | 7 (4+720) ;EE%%
R:TUN—T BNTIARs—H BREHITY RS wT - T7—L
~ ~, B 5| AVRSEER 1:56.3 8-7-8-8 |37.2| 83.3 | 6 504 | FRIREEMS (355R)
7Y 3| @FUIVIILF2T [B] *54.0 a34) L) | @) mER—RL-yyo
RFIPITRTVR 87—V rO—k e
\ " BLUTA :57. -3-6- . . INEfmsh (GEF)
8 ) | PAYHIYRI— it 6 Y 1(567)3 3-3-6-6 | 38.6| 69.9 | 4 (‘—13421) gm%ﬁ
KRRy I—=9ILYI B:RINARTTF7U— EgHhI7—L4
[ BN
En'n 50.2-37.2
NOYF4L | 13.1-11.8-13.1-13.7-13.4-13.0-12.7-12.0-12.5
@ 11— —B&IEfI
13—7F— 5,8-(2,4)-(1,6)7,3
20— — 5,8-(2,4)-(1,6) (3,7)
30—7— (x5,8)7(4,6) (2,1)-3
4A0—F— (x5,8)7(4,6)-(2,1)3
o ILRE
BB 8 160MH JA R 7-8 1504 5 & 7-8 350/ 3EE 6-7-8 2804
B B 8 110M 6-8 180H =51 8-7 460H4 3EH 8-7-6 910M
7 110 6-7 220
6 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.



